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The VOR operates on VHF frequencies, whose maximum reception range is line-of-
sight. However, if the radio waves just skim over the surface of the earth then they 

continue to propagate as shown in the diagram above.

This means that you need to calculate the maximum line-of-sight distance from the 
VOR, and add to it the maximum line-of-sight distance from the aircraft (using the 

normal formula). This is shown below;
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The correct answer is c) 132nm

𝐕𝐎𝐑 𝐥𝐢𝐧𝐞 𝐨𝐟 𝐬𝐢𝐠𝐡𝐭 = 𝟏. 𝟐𝟓 ×  𝐕𝐎𝐑 𝐡𝐞𝐢𝐠𝐡𝐭 

= 𝟏. 𝟐𝟓 ×  𝟏𝟓𝟎𝟎 

= 𝟒𝟖. 𝟒 nm 

𝐀𝐢𝐫𝐜𝐫𝐚𝐟𝐭 𝐥𝐢𝐧𝐞 𝐨𝐟 𝐬𝐢𝐠𝐡𝐭 = 𝟏. 𝟐𝟓 ×  𝐚𝐢𝐫𝐜𝐫𝐚𝐟𝐭 𝐡𝐞𝐢𝐠𝐡𝐭 

= 𝟏. 𝟐𝟓 ×  𝟒𝟓𝟎𝟎 

= 𝟖𝟑. 𝟗𝐧𝐦 

𝐌𝐚𝐱𝐢𝐦𝐮𝐦 𝐫𝐞𝐜𝐞𝐩𝐭𝐢𝐨𝐧 𝐝𝐢𝐬𝐭𝐚𝐧𝐜𝐞 = 𝟒𝟖. 𝟒𝐧𝐦+ 𝟖𝟑. 𝟗𝐧𝐦 = 𝟏𝟑𝟐. 𝟑𝐧𝐦 
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